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< ]
1 ] . thenthe value of [3Adj{2A")|
=
is:
(1)72 (2) 36 (3) 108 4] 48
Ans.  (3)
28 =)
Sol A=-1 2 -1
11 -1 2
2 -1 1
Sa, Al -
1 -1 2

=2[4-1) + H=2+1} +1 {1-2)
=2(3) +1{=1) =1 (-1)

-4

|3Ad){2A-1)] = 37 |Adj(2A )| = 37 « [2A-112

=31 A= 25— _ 108
|AF

2, In & ABC, if |AB|-7, |BC|-5, and |CA |-3. If prajection of BC on GA is 'g . then the value of n
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e gy 10 (33 w2
21 21 29 11
Ans. (1)
E |
i 5
Sol. tantan'—2_ tan 2
1 lan 19 r 2
25 !
15
tan tan |12 | L tan '|-§— ||=_j.,._,l2.. _ 220
| L8 12/ 4 155 o
812
20
4. Mean of & observations is 10 and their vanance i = I observations are 15, 11. 10, 7. a, b then
|a - bl isequalto :
2 21 33 44
Ans.  (2)
Sol. Mean=10
7+10+11+15+a+b 10
6
D = e e et (1]
Variance = E
3
49-100+121+225+a" +b" 20
B 3
a*+ P =145 . =f2)
(& + bj? =288
ab=T2
fa— {8+ b} - d4ab

289 — 266 =1
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6. Sum of 21 terms of senes logs x+logs X+logu x ¥ oS 252, then the value of

xis:

(7 (2} 243 (39 141 81
Ans.  (3)

Sol. 2 logex +3 logax +4 logex ... 21 terms
=(Z2+3+4+5+ +22) logsk = 21

2 (2+22)logg x

= 21x 12 logax

=252 logax

Given sum = 252 == log=x = 1

=%=9

7. _j|[=<| ~lsinx]idx = 7 (Where [-] represents G.LF.)

(1)-2 {2) 1 (0 4 -1
Ans.  (3)

Sol. 1~ jl:[xl — [sin ]
using property IHHJ:: jnxldx-[r[_xm

1= Il|x|—[—x]hx —Il[slnx]—j—snx]\jx =0

axe” —fin(1-

- =10, then the value of o + v Is -

B. i lim
% 0

Ans.  (3)

u>=i1
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9. The value of x satisfying the equation logs-1 (2x® + Tx+5) + logizes (x+1F =4 is : I
)2 22 (31 -4 (414
Ans.  (2)
Sal. logu. ([2% +5) (xa1)) & loge.s (xe1)? =4
1+ ogieay (24+5) + 2logizes (x+11=4
Put log) {2x4+5) =t
1+1+ = =4
t
Here2=dt 2 -0t+2=0
f=1t=2
Fort=1 Fort=2
%+ G=x+1 2x+5= (x+1¢
> % = —4 (rejected) x=2 x=-2 (refected)

(a3 :
10. It (i, 1) is the paint on y= = Bx, that & closest to | 3.-2- then find 2ice + 1)

(e 2} 9 (37 )5
Ans.  (2)

¥ = B
2yy' =86
dy 3
de P
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11, Two circies pags through (—1.4) and their centres lig on »% + ¥ = 2x + 4y =4 r_ |l r; and rz are maximum
¥ T
4 minimum radii and o= 2 thenthevalue of a + bis

Ans. 3
Sol.  Gwen circle
[0+ 1+ (y+ 202 = (3)°
any point on 1his circie is {Jcost — 1, 3sinéi2) equation of circle having tentre (3cost — 1, 3sind —2)

radius of circle is

r=y(3cosA—1=1f + (3sn0—2—4F

VoS 0+ 95 0+36—364n0
J45-365nn
fmex =3 =mnandrmn=3=
n 8B

L2 _33.0f%
B uod .
>a+b=3

12, 1f AABC is right angled triangle with sides a,b & ¢ and smallest angle . If = % arg d are alsa the sides

a c
of right angled triangle then find sin ¢
) 3 -"\. 5
z
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13. if Re [(1+cosi + 2isind) "] = 4 then value of Bis :
K 4 L] 1t
i} - =K i
N3 €3 @ -3 Wy x
Ans.  (4)
Sol. L  J+cosi—disng

1+cos’ N+ 2ignf 1+cosh—Sisnd

_ _1+cosf—2isnn
T (1+cosdf 4s8n*D

i 1+cosd _
1+ cos® A+ 2cosf+4sn° 8
1+ cosh
1+c08” i+ 20084 +4 - doos’
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1+cosh -,
5+ 2cosh—3cos’e
— 1 +cost =20+ 8cos0- 12 cos®p
12cos®) — Teosl —19=0

5 12¢08% — 19cost + 12cos0 — 18 =0
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= 1-cosh E

5+ 2cosh—3c0s°0
1+ cosH =20+ 8005 H—12cos®h

= 12c0s°0 — Tcosh — 19=0
= 12p03% — 19008 + 12c080 — 18 =0
= c0s0( 12c080—19) + 1 {(12c086-19) =0

costh=—1 or cosfl = % (rejected)

14. fx=ay-1=2z-2 and x=3y -2 =bz - 2 lie in same plane then the value of a, b. is
Ma=2.hb=4 (2)a=1,b=1 ([3)b=1,a=R-{0} (4)a=38.b=2
Ans. (3
1 2
w. Y=g ST e
sol, SRS . N
it 1 2k 2!
a 3 b

01 22_
a: 3
1 11

1

= =0

1o
ik

3 b
e L,

ab &
b=1.a=R-{0}

15 I P{A~B)+PA~B|=1-K

P(A~C]+PlA~T)=1-2K
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W= dsn Ty

16 PA~BlPlA~B|-1-K
PAAC)PlA~Tl=1-2K
PlE~C)-PB~C)=1-K
FA~BAC) =K K 2(0.1)

Then the value of Piat least one of A,B.C} is:
(1) = 2} —;.‘—1 '33'-;1; {4 .:

J
2

Ans. {1}
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Sol. PlA] + P(B} -2P{A~B) = 1 - K
P{A] + P(C) —2P{A~C) = 1 — 2K
P(B} + P(C) —2P{B~C) =1 -K
PlALBUC)= P(A) + P(B] + P(C) — P(A~) — P (B~C) - P (A~ C} + P(A-B~C)
_B-dk o k-3
2 2

* The value of 2k¥ —4k +3 is greater than 1
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16. W} = Sk f{fix)) =  then the value of a5 :
Bx-a
(15 25 (36 (46
Ans. (1)
Sol.  fifix)) = :E::‘: ® = Bf{x} 43 = 6x f{x] + ax

B
= 25x+ 15 + 1Bx +3a - 30x2 + 18x + Bax® + a
= (30+8a)xf 4 (a2 — 25) x—(3a+415) =0

= 6{a+5)%* 4 (a B} (@+Bn-3 (a+B) - 0, wx

—a+f=0 —a=-5

| madt' -8 -8t -2.0)1< 03]

17. It glt)= fa=1 te(3d] then the number of points at which gt} iz non differentiable & :
1351 (23 @2 44

Ans.  (2)

Sol. y=1-B6f 4 91-3
Y =3E-12t+9
-3 (E—4at+3)

non
differentiable

o N
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18. AifZ+4=T7 then3+4 =8
B :if3 + 5 =B, then earth is flat

C:if Aand B are true, then 5+4 = 11

{1) Ais true, B and C are false (2) Bis true, A and C are false
(3) Cis true. A and B are false (4) Bis false, A and C are frue
Ans.  (4)

Sal. Truth table p - g

| » @ | p>a
T jET T
[T e F
[ F = T
EE T

Aistrue, B s false. C s true .

a. i y ‘.@'IA f B
18, Ii A= 2 " then value of is
o 1,5._ n valu 18|

(1)2021 (2] (2021F (3} —2021 40
Ans.  (2)
Sol. A=l, B=l+l+... 2021 limes

B -2021; ﬂ

1B] = {2021)2
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